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Question ID:1429, Code:
Section:General Aptitude
Question:Fill in the blank with the correct option.

Moon has hidden her face behind the cloud.

A
B
C
D

A

An

The

No Article Required

Answer Given By Candidate:A

Question ID:1430, Code:
Section:General Aptitude

Question:Identify the proper noun from the options provided.

A
B
C
D

Sita
Girl
Crowd

Kindness

Answer Given By Candidate:D
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Question ID:1431, Code:
Section:General Aptitude
Question:The boys are playing Hockey.

This sentence is in which tense.
A Simple Present Tense

B Simple Future Tense

C Present Perfect Tense

D Present Continuous Tense

Answer Given By Candidate:D

Question ID:1432, Code:
Section:General Aptitude
Question:Choose the correct meaning of the given idiom/phrase from the given options.

"Chase rainbows"

A Try to achieve something that is very difficult, impossible or very desirable.

B Catch someone in the act of committing a crime or doing something they shouldn't.
C When something develops completely and reached maturity.

D To work late into the night, alluding to the time before electric lighting.

Answer Given By Candidate:Not Attempted

Question ID:1433, Code:
Section:General Aptitude
Question:When 43 is subtracted from 40% of a number, the result is 313. Find that number.

Sid fopelt WA & 40% H T 43 TSI ST 8, O URUTH, 313 U 81dT ¢ | 98 AT J1d I |

A 860
860

B 870
870

C 890
890

D 880
880

Answer Given By Candidate:Not Attempted
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Question ID:1434, Code:

Section:General Aptitude

Question:The sum of three numbers is 126 and their ratio is 1:2:3 respectively. If the sum of last two numbers
is 105, then find the first number.

<9 TSHl BT AT 126 § 3R SDI SUT HHRT: 1:2:3 71 Al Sifaw gt Semsii &1a1 105 §, O ggat
AT T DI |
A 44

44

B 21
21

C 15
15

D 36
36

Answer Given By Candidate: A

Question ID:1435, Code:

Section:General Aptitude

Question:Four unbiased coins are tossed. What is the probabilit% of getting exactly four heads?
?

IR ey Rigds IBTa W 3t IR R 31 &1 THIGT T

A 1/4
1/4

B 1/8
1/8

C 1/16
1/16

D 1/12
1/12

Answer Given By Candidate:B
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Question ID:1436, Code:
Section:General Aptitude
Question:Find the area of a triangle with a base of 10 cm and a height of 5 cm.

10 cmaﬂx”hTS cmmaﬁﬁﬁﬁﬁmﬂﬁml

A 10em’
10 cm’

B 15cm’
15cm’

C 20cm’
20 cm’

D 25cm’
25cm’

Answer Given By Candidate:B

Question ID:1437, Code:
Section:General Aptitude
Question: What is the value of 6!?

6! BT HI- HIT 22
A 610
610
B 720
720
C 880
880
D 900
900

Answer Given By Candidate:B
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Question ID:1438, Code:

Section:General Aptitude

Question:Read the conclusion and then decide which of the given conclusions logically follows from the two
given statements:

Statements:

1. All mangoes are golden in colour.

2. No Golden-coloured things are cheap.

Conclusion:

1. All mangoes are cheap.

2. Golden- coloured mangoes are not cheap.

gr&ﬁsfu%@?ﬁﬂmﬁﬁsﬁqwﬁwﬁﬁﬁﬁ?ﬂﬁqwa$ﬁwaﬁwwﬁmm
$-2FI:

L. gt ST IR T FH B B

2. Wwﬁﬁ%lﬁ%m#@?ﬁl

1. mﬁmaﬁéﬁ%
2. TR T & ATH X T8 81|

A Only Conclusion 1 follows

&I SHY | IRV AT §

B Only Conclusion 2 follows

Pad FIspY 2 3TERUI BT 7

C Both Conclusion 1 and 2 follows

A e 1 3R 2 SRV R §

D Neither Conclusion 1 nor 2 follows

Ta e | SR T8 2 SR BRAT S

Answer Given By Candidate:B


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

247

05/06/2025, 12:48 Response Sheet

Question ID:1439, Code:
Section:General Aptitude
Question:Refer the table to answer the question.

SALE OF CARS YEAR YEAR
(IN LAKH) 2009 2010
MARUTI 1.25 1.8
HONDA 1.3 4.2
HYUNDAI 1.55 1.35
Which of the company has highest average sales of car during the period 2009-11?
% BT IR &1 o forT drfere1 3 |
SALE OF CARS YEAR YEAR
(IN LAKH) 2009 2010
MARUTI 1.25 1.8
HONDA 1.3 4.2
HYUNDAI 1.55 1.35

YEAR
2011

1.95

5.5

2.3

YEAR

2011
1.95

5.5

2.3

¥ 2009-11 P SR fbd HU Pt HR BT T foeht o b T2

A Honda
Honda

B Hyundai
Hyundai

C Maruti
Maruti

D Both Honda and Hyundai
Both Honda and Hyundai

Answer Given By Candidate: A
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Question ID:1440, Code:

Section:General Aptitude

Question: When the sheet of paper given in the following figure is folded to form a cube, how many dots will
be there on the side opposite to the face bearing five dots?

';_‘ LR
ﬂ Q.I
o FofaRad fo & € 18 S 31 Xt &) Aigax Ue °F ST 1l §, o Uid fog sl ard A &
fausta uer = fobaq foig gl

:

:

—

W W [\ I \®)

D 4
4

Answer Given By Candidate:C
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Question ID:1403, Code:

Section:Reasoning

Question:Select the option that represents the correct order of the given words as they would appear in an
English dictionary.

1. Little

2. Literature

3. Liquid

4. Light

g fawed g Sl fU 7T X1eg) & et 51 Y S=TdT § S o 3 3ol Regamiwr § femars 37
1. Little

2. Literature

3. Liquid

4. Light

A

b

W W

-

B

S ;P u-'; R
B u-'; wl\) vl\)
—r —_r
W W

NN NN

o

D

b

&~ B W W

1,3
91939
G

Answer Given By Candidate:D

Question ID:1404, Code:

Section:Reasoning

Question:If each of the letters in an English alphabet is assigned Even numerical value beginning from A = 2,
B=4,C=6....... ,Z =52, then what will be the total value of the letters for the word 'DESIGN'?

Tfe SIS qUTHTET % TP SeR PN A=2, B=4.C=6....... 7 52 T Y= PR U IH TS AH
%mw%,a%msmw%%a&ﬁrm%mw@w

A 116
116

B 133
133

C 118
118

D 112
112

Answer Given By Candidate: A
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Question ID:1405, Code:
Section:Reasoning

Question: A 1y walks 8 km in West direction. Then he turns 90° anticlockwise. Then in which direction is he
facing now?

;@;ﬁqﬂf?ﬁmﬂﬁézmw%l o= ag amATad f=m & 900 gear 71 df fhr 3@ ST g fary fa=m
?

A North

B West

afgy

C East

o

D South

af&mr

Answer Given By Candidate:Not Attempted

Question ID:1406, Code:
Section:Reasoning

Question: A certain number of people are sitting in a row and facing North, if Tom is sitting 2" from the left
end and 60 from the right end, then find the total number of people sitting in a row?

T Ufad & fAfa e o anT ST &t 3R T8 b 96 &, A6 eiF a1 DR I G RITF TR 3R & BR
T 60d M WR 931 ¢, O Ufad § 96 Fol ATl b1 TSAT 1 BITorg 2

A 60
60

B 61
61

C 68
68

D 66
66

Answer Given By Candidate:Not Attempted
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Question ID:1407, Code:
Section:Reasoning
Question:Five boys A, B, C, D and E are seated on a bench
* A is to the immediate left of C and to the immediate right of B
* B is to the immediate right of D
* There are exactly two people between C and D

* E is to the extreme right end of the row and to the immediate right of C

Then who is seated exactly at the middle of the row?

U T8 A, B, C, D 3R E U ST W IS §

- A, C ¥ 315 1 3R 3R B F 31 a8 3R 7
-B,D ¥ 315 I AR 7
-CRDF T A SIFH A AT g

- E Ufdd & 9a alfig BR R 3R € & 31 a8 iR §
A U & Sl g H HA doT 72

A A
A
B C
C
C E
E
D B
B

Answer Given By Candidate: A
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Question ID:1408, Code:

Section:Reasoning

Question:Study the following arrangement and answer the question:
DGHKLTYURSEWAX

Which of the following letter of an English alphabet is 5% from the right end in the above arrangement?

FROfIfad STaRIT BT 3T B 3R UY BT IR <

DGHKLTYURSEWAX

SWRIGd FTRITH 3Rl guiATer &1 Hafafad § ¥ o9 91 31eR a1t R T urhal g2

A S
S

B

D

@)
AR A4 AR

Answer Given By Candidate:C

Question ID:1409, Code:
Section:Reasoning
Question:Kiran is the father of Ravi. Ravi is the brother of Kavya. Then how is Kavya related to Kiran?

0T 33 1 fUrar B 1 3 BT 67 HIE || ) HTed BT fhrur J R ey 82

A Daughter

EG|

B Grandmother

ard!

C Mother-in-law
qry

D Sister
CRE|

Answer Given By Candidate: A
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Question ID:1410, Code:
Section:Reasoning
Question:The sum of the ages of three friends is 188 years. What was the sum of their ages 10 years ago?

A SRl P ST BTANT 188 TN g1 10 TY TS IDT I BT ANT T UT?

A 158
158

B 137
137

C 128
128

D 144
144

Answer Given By Candidate:A

Question ID:1411, Code:
Section:Reasoning

Question:Complete the given series:
362, 364, , 368,370

362,364, 368,370

A 379
379

B 365
365

C 366
366

D 371
371

Answer Given By Candidate:C
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Question ID:1412, Code:
Section:Reasoning

Question:Find the missing term in the given series:
G13, H15, 117, , K21

& 1S g H qd Ug T1d DI

G13, H15, 117, , K21

A J26
J26

B Fl6
F16

C M22
M22

D JI9
J19

Answer Given By Candidate:D
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Question ID:1413, Code:
Section:Reasoning
Question:

In the given Venn diagram, Circle represents people who like Singing, Triangle represents people who like
studying and Rectangle represents people who like dancing.

Then find how many people like only singing?

faU T 3 3@ H, g1 I W1} b1 il & foT T UG 7, Hieh 07 3 o b e & fre ue uiie
2 3R 3Tad I AT bl =i & e I Ui B

@ a1 &ITa b a1 dhad T UG 22
A 8

8
B 5
5
7
7

D 10
10

Answer Given By Candidate:A


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

247

05/06/2025, 12:48 Response Sheet

Question ID:1414, Code:
Section:Reasoning
Question:Choose the correct mirror image from the given options if the mirror is kept at XY.

X

OSTRICH 7

Y
gfe gdur 1 Xy TR I@T WY dt 3T 77t fdw et & 3 98} euur 3 &1 9g= S|

X

OSTRICH ?

Y

A HJOIATZ20
HOIAT20

B O2Z2L1EICH
0O21EICH

C HOIH1S0
HOIH41S0

D OHI1ISICH
Od1SICH

Answer Given By Candidate:A
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Question ID:1415, Code:
Section:Reasoning
Question:Find out the code which can replace the question mark in the given series:

A X
T
X
T

X
W
X
W

°T
X
T
X

*U
W
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Answer Given By Candidate:B

Question ID:1001, Code:

Section:Electronics

Question:How does the binary number system contribute to error detection in digital communication
systems?

IT2-RY TRen yurett, fefored Tar yonferat & e uga & 3 GiTe= da 82

A By using parity bits to detect single-bit errors.

RivTe fore Ffed &1 uar e & for Uikt foree 1 Sudiv b |

B By ensuring data compression through fewer bits.

3o facd & T1egy ¥ STl HIRH YT i |

C By representing numbers in a universally understood format.

T3] BT Th THH =0 T A S aTel ey H Ufaffed oo |

D By reducing power consumption in digital circuits.
ON ON oC Q ~\
[&foTed Tidbe H fckd Wud &I HH HIb |

Answer Given By Candidate:Not Attempted

Question ID:1002, Code:
Section:Electronics
Question: Which Boolean law is represented by the equation A.(B+C)=(A.B)+(A.C)?

FHIHRUT A+ (B+C)=(A-B)+(A-C) §RT DI AT gfera (g =it i g2
A Idempotent Law

Jgsmce |
B Commutative Law

FHrgcfea fgm

C Distributive Law

fe¥isgfea frem

D Associative Law

SRt fam

Answer Given By Candidate:B
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Question ID:1003, Code:

Section:Electronics

Question: Which of the following steps is essential in minimizing a Boolean function using a Karnaugh Map
(K-Map)?

glorae HarleT & shulre AT (K-M ap)
T STAT Fleh cgAdH el o fow Aeaforiaa
# 9 DI T1 PeH HTGWTF §7?

A Plotting the minterms of the function into the K-Map and grouping adjacent s into powers of two.
BRI & fHaedd Y K-M ap & Tdic em
3R USrY 1s @Y & & Urad A Heffed |
B Using Demorgan's theorem to rewrite the Booleagianction before plotting.
AT & g gierad Har #1 il &
oraa & forr SN & UAT & SuANT
hlel |

C Eliminating redundant variables by factoring out common terms from the Boolean function.

qForaet Baeled ¥ AT LUl i arel
Ao foRYE TR o GATT BT
D Converting the Boolean function into canonical Sum of Products (SOP) form without grouping terms.
T wegfea Ut & Fierad Bl &l
halfoidhel G 3T WEeed (SOP) &

0 # uRafag #anl

Answer Given By Candidate:A
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Question ID:1004, Code:
Section:Electronics
Question: A control engineer designs a lag-lead compensator where the poles are at s=-B/T1, -1/BT2 and

zeros are at s=-1/T1, -1/T2. What condition is true for the parameter [3 in a lag-lead compensator?
T Hgldl ST IT, Teh ofdT-ol1g PhiFdeael
f&=TTseT ear & Fer uled s=—p/T1, —-1/BT2
W gl & AR SR s=-1/T1, -1/T2 W &1
T3 FiFtegel # B AT & forw siadr
T HeT &2
A {3<0

B<0
B {3>0

B>0
C B<1

B<!
D B>1

B>1

Answer Given By Candidate:Not Attempted

Question ID:1005, Code:

Section:Electronics

Question:In a Gray Code to Binary converter, how is the Most Significant Bit (MSB) of the Binary code
determined?

Y PIS Y TR Hac §, TR Brs &1 A Rififthdre fae (MsB) 8 My fear simar g2

A It is the complement of the Most Significant Bit (MSB) of the binary input.

gg 913~ 37Ye & AR REfifthdie fae (MSB) BT R& §|

B It is equal to the Most Significant Bit (MSB) of the Gray code input.

g A BIS 39YC & ARe Refifthdie fae (MSB) & SRISR B

C Itisalways 1 for all binary inputs.

7g gt a13R1 37Ye & forg e 1 ST B

D It is the result of an XOR operation between all the bits of the binary input.

Ig SIER1 3992 & I focy & g XOR TR &1 uRumA 7|

Answer Given By Candidate:Not Attempted
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Question ID:1006, Code:
Section:Electronics
Question:How does the triggering mechanism differ between a latch and a flip-flop in digital circuits?

f$forea afdhel & uer o= SR Ue fFau-ualy & o9 femfim a3 & fia |2

A Alatchis trlggered by clock edges while a ﬂ1p flop is controlled by enable signals.
TP od FAID TEolN GRT feTR il &, Saidh Uoh [Gay-Ti1g W& THad Rigd gRT ad giar g

B A latch updates output only at the rising edge of a clock pulse, whereas a flip-flop responds throughout the
clock cycle

TP OF Had gl Ul & Sed g TR 3T3TYC B AUST Bl §, Sd(h Ueh fTed-Tard, W
Fife ATEfpel B SR TP BT B

C Alatch is level-triggered, while a flip-flop is edge-triggered.

T i, a9-feTTs 8idl 5, Siafd U (GeTy-gaild Tol-feTTe gia g |

D A latch stores data permanently, while a flip-flop stores data temporarily.

U g, 321 ! R Y J TR BT 5, a1 U [GAY-UATg ST bl SRR 4 J TR AT |

Answer Given By Candidate:B

Question ID:1007, Code:

Section:Electronics

Question: Which of the following is a primary advantage of using a Mealy machine over a Moore machine in
FSM design?

FsM f&oe &, OR 9= &1 gam 8, e =i & U a3 &1 578 ¥ S 91 U TUfHE ar g2

A Simpler transition diagrams

ad

B Fewer states, mid-transition output

S T, TH-URTdH 3H3cyc

C Better synchronization
D Easier debugging
ST

Answer Given By Candidate:Not Attempted
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Question ID:1008, Code:

Section:Electronics

Question: Which of the following best describes a situation where a bidirectional shift register would be
preferred over a unidirectional shift register in a digital system?

U fSfored yoneh |, fRufefad & @ oF, te T8 {9 &) 99 ¥ 38R SIg ikl & 9Ig] U alaRtbh RIve
IR & IUTNT &I, Th W1 R10e IoRex R 31 Tryfiesdr &t s

A Parallel load, serial read.

Wad dre, Siua s

B Shift both ways, rotate data.

ST femaii ¥ Rt &A1, 2 31 e BT

C Store data without shifting.

Sl &l fom1 Rive foou Tufed &1

D Convert binary to Gray code.

SR D1 I Bre | uRafdd BT

Answer Given By Candidate:B

Question ID:1009, Code:
Section:Electronics
Question: Which of the followmg is a common application of Voltage-Controlled Oscillators (VCOs)?

I e T H ¥ S 1 dieeol-deies SHTRiIeeR (VCO0s) BT AHRT SUaNT 82

A Data storage in memory devices

AART SUBHIUN H ST TUGU]

B Signal generation in frequency synthesizers
il RiggeR H Rygret Ao
C Power amplification in RF circuits

RF Ffche H UraR Tiifthob =

D Temperature regulation in sensors

H qrgH fHaE

Answer Given By Candidate:B
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Question ID:1010, Code:

Section:Electronics

Question: What elements are included in the frequency spectrum of an AM signal produced by a sinusoidal
modulating signal?

TH A NIgsd AregaicT Rud gRI S@d AM Rud & Sgil WaeH ¥ &1 ¥ da id 62

A Carrier, Noise and sidebands

BRI, TR SR AZES

B Carrier and sidebands

BRI AR Az

C Noise and sidebands

TR 3R

D Carrier and Noise

HRUR R IR

Answer Given By Candidate:Not Attempted

Question ID:1011, Code:

Section:Electronics

Question: A team is testing various materials that are to be used in an electronic device. Team chooses one of
the material having resistivity range of 50()-cm. Which type of material did the team choose?

Ud A fafis R &1 Rie0] #R Y81 § Sl U Saae - (Sargd § SUINT &1 oart | 1 7 500 -cm
D1 UfaRITerdT e arcl! T Al &1 o foedT | 6 = g UbR ot Iresfl gt

A Insulator

B[

B Semiconductor

b SaR

C Conductor
hSdc

D Dielectric

S{EGIERE

Answer Given By Candidate:B
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Question ID:1012, Code:

Section:Electronics

Question: A semiconductor based current sensor is used for detecting small variations in electrical currents in
a microchip. A total current density in a semiconductor material is to be measured. What is the total current
density in a semiconductor material"

T YHihSde SMYTRT He W BT JUUIT, Hrgehifay H faggd 4rTsi & sslc g oI Udl @l &
mmgm%lwﬁmﬂmﬁﬁ Fl BT I B FIGT ST & | Aefidreae Al § o die
Ydcd R 5?2

A Drift current - Diffusion current

U B - fEwRIeH Bic

B Diffusion current - Drift current
fSwgeH e - f§ue i

C Dirift current + Diffusion current
St P + fSwgeH Hic

D (Drift current + Diffusion current)/2
(g Bic + FERIeH B2

Answer Given By Candidate:Not Attempted

Question ID:1013, Code:

Section:Electronics

Question:Consider a photodiode with a p+ i-p-n+ configuration. This construction is similar to a PIN
photodiode containing two heavily doped and two lightly doped regions. In the avalanche photodiode (APD),
which of the following are the heavily and lightly regions in the device?

TF BICISS W fGaR &3 o/’ p+ ip- n+ﬁ@7‘r|3\f¥|=r%l u's’ﬁﬂfUTWPIN BIRISHS & JAH 8
%&%lﬂﬂ@@aﬁ?ﬂeﬁ@h@ AT B & | TAd BICISHIS (APD) H, IUHRUI H HRY 3R geb &7

A p and i are the heavily doped regions whereas n+ and p+ are lightly doped regions.

p 3R i YRl SIS &7 § Ta(db n+ 3R p+ Teb SIS &A 5 |

B p+and p are the heavily doped regions whereas i and n+ are lightly doped regions.

p+ 3R p U} SIS & § Taf i 3R n+ Beb SIS & g |

C p+tandi are the heavily doped regions whereas n+ and p are lightly doped regions.

p+3ﬁ?ilnﬁ%aﬁ%m%n+aﬁipsﬁﬁ@aa%|

D p+ and n+ are the heavily doped regions whereas i and p are hghtly doped regions.

p+ 3R nt+ U SIS &7 § TP i 3R p b SIS &

Answer Given By Candidate:Not Attempted
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Question ID:1014, Code:

Section:Electronics

Question:For fabricating an integrated circuit (IC), which oxidation method should be chosen to achieve a
faster oxidation rate for creating thick silicon dioxide (SiO,) layers exceeding 1 Hm, while accepting a higher

density of interface states?

U Tehihd URUY (IC) o= & forw, forg
FArreTeoT fafr & gar e anfee arfes

1um & 37T A Rl o3 3ieraTss (Sioy)
URAT & THATOT & TorT osit & JTeaFHTenoT &3
UTH T ST ek, STk ey Tl &l 5
Hefcd Pl TR fhar ST Teh?

A Wet oxidation
A HTFHRIOT
B Dry oxidation
gE HATFHIAIOT
C Slow oxidation
Tl TR oT
D Slow and then wet oxidation

Tar 3 fpT AT 3T

Answer Given By Candidate:D
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Question ID:1015, Code:

Section:Electronics

Question:In the Dual-well Process or Twin-tub Process, during Step 9, ion implantation is performed to dope
the source and drain regions of the PMOS and NMOS transistors. Which of the following is formed as a result
of ion implantation during Step 9 of the Dual-well Process or Twin-tub Process?

SA-9d U 1 fg-2d TR H, TU 9 & GRIM, PMOS 3R NMOS ToReR & HId 3R 3 &1 &I 3
TR P foTT T SHATCRH o ST 81 G3rd-ad TR a1 fg=-cd Ty & R0 9 & GRIH 3T
SIRATCRM o URUTRGR=Y Fafefed & & &M 91 a1 57

A A thin layer of gate oxide is formed on NMOS
NMOS W HT 1T 3qTs b Teh Uaell IR §cll & |

B The n+ polysilicon gate for NMOS and p+ polysilicon gate for PMOS

NMOS & TdTE n+ TTeRIfeIepi— 7 3R PMOS & foE p+ Ticififers e

C Nitride spacers are formed on PMOS
PMOS UR qIg¢lg s WX d-d %l

D The p+ polysilicon gate for NMOS and n+ polysilicon gate for PMOS

NMOS & TdTT p+ TTefRIfeIepi— 7 3R PMOS & folE n+ Tieififeis I el

Answer Given By Candidate:Not Attempted

Question ID:1016, Code:

Section:Electronics

Question:In the fabrication of a semiconductor device using the Dual-well Process or Twin-tub Process, the
first step involves depositing a thin layer of SiO, on a p-substrate surfaced with a lightly doped p-epitaxial

layer. What is the purpose of the thin SiO, layer deposited in the first step of the Dual-well Process or Twin-
tub Process?

3d-ad Ufeha 1 fg=-cd TR &1 SUURT b Y SdeR SUHRUT BT 0N Hd THY UgdT TR0 Th
Eeh! 1Y DI T3 p-TUfRITd TRA & 1Y p-Ts¥ice W UH Udal! Si0, URd STHI BT & | §3IA-ad Ufehan

7 fgA1-2a TR & Ugd aR01 H S/ T $1 113 Udalt Sio, TRd &1 3639 &1 62

A It will serve as pad oxide

g U TS S & =0 H B Byl

B It will serve as gate oxide

g T s S & =0 H B Sl

C It will serve as linear oxide

g AR TS S & U H B Hyft

D It will serve as CVD oxide
Y8 CVD AHHES &b U H BRI B4l

Answer Given By Candidate:Not Attempted
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Question ID:1017, Code:

Section:Electronics

Question:In a small-signal equivalent circuit of a diode, what is the primary parameter that determines the
small-signal resistance of the diode?

TS SIS & Bic- R e Gidhe H, ®1H-91 T WIHICR § Sl SEIS & Bie-Rud ufaRiy &1
fReffa sarg?

A The applied DC voltage across the diode junction
SIS SR U ] DC dlecyi

B The thermal voltage and the diode's DC operating current

YA dlcedl 3R SIS &I DC TTe URT

C The forward threshold voltage of the diode

SIS HTHRAS XS dlecsl

D The type of semiconductor material used in the diode

SIS H SUTNT B! S aTell JHidbSaex I &1 UHR

Answer Given By Candidate:D

Question ID:1018, Code:

Section:Electronics

Question: What is the primary function of the tank circuit in a sinusoidal amplifier, such as a Colpitts
oscillator?

TS Sd TUHIBRR S o SHiaficy siiiider & ¢ Afae o1 Uil o1 o g2

A To select the frequency of oscillation

SR D1 Wieh ! BT TgT Bl

B To amplify the input signal
19 Ry &1 dg T

C To provide a high input impedance
3o $1YC TS Ue Al

D To generate a square wave output

WHIR 99 3ICYC I HRAl

Answer Given By Candidate:Not Attempted
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Question ID:1019, Code:
Section:Electronics
Question: What is the purpose of the Zener diode in a voltage reference circuit?

T® diees U Tfthe H SR STTS &1 330 T 82

A To regulate the current through the circuit

gfdhe & HIegH Q Hc Bl [HAEd BT

B To provide a stable reference voltage by operating in reverse breakdown

fITRId P13 H 1 Fxd gU TH RR W dleesl TaH HRl

C To amplify the input signal
$1qe Rigd &1 agMI

D To block reverse current flow

faud Hic UaTg &I AhHl

Answer Given By Candidate:B

Question ID:1020, Code:
Section:Electronics
Question:Why is the transconductance (g,,,) of a MOSFET amplifier considered a key parameter?

Tdh MOSFET THAHIRR & CRI&HSdcd (g,,) I U Hedqul IRMHTex &1 AT SITdl 62

A It determines the input impedance of the amplifier relative to the amplification.

T8 TR &1 37YC SUSY &) THaiith M o Triel Reild Har gl

B It defines the ratio of the change in output current to the corresponding change in input voltage.

Ig 3M3CYE Hc B URGcH o ST HI Hafdd STYC dlecsl o TR b a1 URYIT FRat g

C It specifies the power gain of the amplifier.

g THABIR &1 TR 1 1 RSy S 21

D It sets the DC operating point of the MOSFET.
I MOSFET &1 DC S{TORfET Ulde ¥e oxdl g

Answer Given By Candidate:B
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Question ID:1021, Code:
Section:Electronics
Question: At low frequencies, what causes the gain of a BJT amplifier to decrease?

HY IR W, BIT THHTHR & T & e BT HRUI T 82

A Junction capacitances

TR

B Coupling and bypass capacitors
[aX) C
HUTCHT 3R LU

C Base-emitter resistance

SY-THeR ufeRiy

D Collector leakage current and resistance

HadeR difepel Hec 3R gfaRIY

Answer Given By Candidate:D

Question ID:1022, Code:
Section:Electronics
Question:In a MOSFET amplifier, what is the primary reason for the upper cutoff frequency?

MOSFET TWEIBRR H, $URI He 3 gl &1 Wrifiies SR &l 87

A The junction capacitance of the MOSFET
MOSFET &1 Sia-H '

B The Miller effect in the amplifier circuit

THAHRR gidhe H fieR yvg

C The thermal noise in the MOSFET

MOSFET # YHd TR

D The transconductance of the MOSFET

MOSFET &1 ciidhadcd

Answer Given By Candidate:C
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Question ID:1023, Code:
Section:Electronics
Questlon What is the primary advantage of a differential amplifier over a single-stage amplifier?

TS SR TOHRR &1 RATA- RS TR 1R Ui amy o g2

A Higher voltage gain
3

B Improved noise rejection

IER TR

C Simpler b1as1ng requlrements
IR IS TIAH AT

D Higher input impedance
I $1YC 30

Answer Given By Candidate:Not Attempted

Question ID:1024, Code:
Section:Electronics
Question: Why does the gain of a BJT amplifier reduce at high frequencies?

I MGRIAT TR BIT THATHIR &1 ATy & HH 81 Sl 62

A Reduced carrier mobility in the base region

99 &9 H ®H SRR fafiaar

B Parasitic capacitances and transistor transit time

3R TR TifSte ergy

C Increased thermal noise in the circuit

fthe o T¢1 g3l ¥Hd TR

D Reduced power supply voltage
o H UTdR Jilg dlecy

Answer Given By Candidate:B
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Question ID:1025, Code:
Section:Electronics
Question: Which type of VCO is typically used in Electronic Beepers?

ZAae® §10Y H AR TR fhd YR &1 vCO IUTRT fawa ST 82

A Crystal Oscillator

foheq siiediaiex

B LC Oscillator

LC 3fTeiieiey

C Relaxation Oscillator

e siwfider

D Ring Oscillator

R sfredieey
Answer Given By Candidate:Not Attempted

Question ID:1026, Code:
Section:Electronics
Question:What is the key advantage of active filters over passive filters?

Tfded flheer o1 AT fthecr TR T ATy T 32

A Lower cost and simplicity
Modified: Provide amplification of the filtered signal

&HH AT 3R Ry
HLNTerd: flheex fohT 71T Hohd &1 SgH

B Limited frequency range
Modified: Prone to noise interference

i oaRI Yot
G YR TH&Y DI RIGR g1

C Ability to provide gain and precise control over filter characteristics

e faRivarst R a1y 3R Ite U= Ue™ B P &HdT

D Higher power consumption

31 farelt o wud

Answer Given By Candidate:A
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Question ID:1027, Code:
Section:Electronics
Questlon What is tl the primary purpose of a sinusoidal amplifier in electronic circuits?

TP FAT-d Fide B A Tagsd TIAhTR &1 WYHe I3 o1 72

A To generate a non-sinusoidal output signal from a sinusoidal input signal.
Uh digdIg S 1Y Hand | AH-HIgdIe S 3AI3CYC e Igd BT

B To produce sinusoidal signals with minimal harmonic distortion.

S TIgSd Hdbd! DI FAdH SIS [ddHTd & AT IS HRAT|

C To generate square waveforms from sinusoidal inputs.
N N v e
SIERNIEENERIE Y TR ddBIH Id HAT|

D To decrease the power of a sinusoidal output signal.

g4I Sd 3M3cyc Riud &t Wfad Bl HH BT

Answer Given By Candidate: A

Question ID:1028, Code:

Section:Electronics

Question: Which op-amp configuration is commonly used as a voltage follower to provide high input
impedance and low output impedance?

3 YC WS 3R A7 3T3eYe WY U H & AU 31 IR WR I At op-amp BIBIRA &1
ST foa STl 82

A Inverting Amplifier

B Non-Inverting Amplifier
I- ]

C Unity-Gain Buffer
it IR

D Differential Amplifier

SHROd THRR

Answer Given By Candidate:Not Attempted


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

2y/7 Google Play

05/06/2025, 12:48 Response Sheet

Question ID:1029, Code:
Section:Electronics
Question: What is the purpose of the modulation feature in a function generator?

TR SReR | Hiega= fa=IvdT &1 =g 1 87

A To increase the frequency range of the generator

SRR 1 3N HH1 §gH o fog

B To improve the signal-to-noise ratio

RITd-g- A8 3uTd § YUR A & fog

C To generate different waveforms with a wide range of frequencies

fafie 1 o=l &l U 3M1gftl AT o A1 Idd HR & [T

D To reduce the amplitude of the output signal

3{13cYe Riud &t Tl &l HH H & oy

Answer Given By Candidate:B

Question ID:1030, Code:

Section:Electronics

Question:In which mode of operation does the 555 timer continuously generate a square wave without
requiring an external trigger?

555 TSR 6 fopareramy M  famT a6} foTR & AR IR 99 Idd SRl /7

A Astable mode

T A8

B Monostable mode

AT °HIS

C Voltage-follower mode
dlecol-thidlar Al

D Bistable mode

CIERC RIS

Answer Given By Candidate:C
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Question ID:1031, Code:
Section:Electronics
Question:In a power supplg, what is the effect of increasing the value of the filter capacitor?

TS UTaR JuTs 4, fiheex P A DI ST BT T UHTE 82

A The output voltage regulation is improved
3M3cYe diees A om= o QUR gan g

B The ripple frequency at the output increases

3T3eYe R Rud widd a8

C The output voltage becomes more unstable

3M3eYe el 3ifieh 3fRR B T 8

D The ripple voltage at the output decreases

3T3eye W RNud diees &4 gidT §
Answer Given By Candidate:C

Question ID:1032, Code:

Section:Electronics

Question: What does the integral of the Power Spectral Density (PSD) of a signal over all frequencies
represent?

T Tbd P et gl W, uraR Weeed SRS (PsD) 1 SEuet T aifell 22

A The signal's average power

Hbd T 3 Gd UTaR

B The total energy of the signal
N c
Hobvd Bl Pl SHoll

C The peak power of the signal

Hehd i 3ifeehH e

D The bandwidth of the signal
Ghd Bl dsfagy

Answer Given By Candidate:Not Attempted
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Question ID:1033, Code:
Section:Electronics
Question:If the maximum frequency of the baseband signal in an AM system is fm, how much bandwidth is

needed overall to send the modulated signal?

e Th AM Ried T 9uds Rua &1 Sifiidad Sah fm ©, A1 Aledaic s Rigd Yol o forg $dt foha
defagy 3t srazgemar gl
A 2B +1) fm
2B+ 1) fm
B 2fm
2fm

C fc
m
fc
m

D 2fm
fc
2fm
fc

Answer Given By Candidate:D
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Question ID:1034, Code:
Section:Electronics
Question: Which of the following best characterizes a narrowband FM (NBFM) signal?

fAFAfoIT T & O i °Y, Th FhroT
oIz e AlZYT (NBFM ) Raetar

B I ST OXE T FAT 87

A A maximum frequency deviation Af\Delta f g f much greater than the modulating frequency fmf mfm.
HAfrerad e aRada AfDelta fAf
ST AZYATE Hrardar fm f_m fm. &
HTHT AR &

B Af<cfm, and the modulation index B>1.
Af «fm 3R ASLRAAT 2T B>1|
C  the modulation index B<I.
AU 2T B<1]
D A wide transmission bandwidth.
UF d1Eg A dEfagy)
Answer Given By Candidate: A

Question ID:1035, Code:

Section:Electronics

Question: Which simple form of digital amplitude modulation is commonly used for transmitting binary data?
dls-lg 32T YeRd A & ol 19 A1 IR fSed Ticiicys AIeR &1 =0 JH=Ia: SART faar
olldl 8?7

A Quadrature Amplitude Modulation (QAM)
ISR TS AR (QAM)

B Frequency Shift Keying (FSK)

Wi RITE I (FSK)

C Phase Shift Keying (PSK)
T fRIGE 1T (PSK)

D On-Off Keying (OOK)
3[-3Hh HIST (OOK)
Answer Given By Candidate:C
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Question ID:1036, Code:

Section:Electronics

Question: Which component is involved in the conversion of the input radio frequency signal to an
intermediate frequency in a superheterodyne receiver?

P T U, JUReeRrere RutaR #, 39Ye el Wil Rua &l SexHifsue wign # uikafdd &a &
M B 82

A Mixer

R

B Amplifier

TR

C Detector

fScaex

D Antenna

qe

Answer Given By Candidate:D

Question ID:1037, Code:
Section:Electronics
Question:How does impedance transformation in an AC circuit enhance power transfer?

AC Ffbe § grfied uRad=, i deror &1 $3 I 82

A It reduces power transfer by raising the circuit's resistance.

g Fithe & UlaRIY Bl STHR Ul YRl Bl HH HRdT 5

B It ensures the circuit operates with negligible impedance.

Ig gHfd ol g [P Fiche 00 Iahiey & A1y w1 He|

C It enables maximum power transfer by aligning source and load impedances.

g Id 3R dis ST I IRRAd B 3MfUbaH Ul TR0l BT & S1d1 8 |

D It removes the need for inductive or capacitive components.

g IR g1 GUTRF Uch| ot AR dl bl U HRdl 2|

Answer Given By Candidate:C


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

2y/7 Google Play

05/06/2025, 12:48 Response Sheet

Question ID:1038, Code:

Section:Electronics

Question: What does mutual information signify between two random variables, X and Y, in the context of
information theory?

a1 Rigid & deu 7 <1 arefes® uRadHl, X $fR Y & o URWR® SHSR] &1 71 78 82

A The total amount of entropy of X and Y.

X 3R Y &1 Ha it

B The amount of information that X and Y share.

X 3R Y R ITST P T8 THBRI BT HEA|

C The total amount of redundancy of X and Y.

X 3R Y B Ha ffafaddr & A=

D The amount of noise that X and Y share.

X 3R Y gRT ITH 1 775 R B AR

Answer Given By Candidate:Not Attempted

Question ID:1039, Code:

Section:Electronics

Question:The quantization noise in pulse code modulation (PCM) is mostly affected by which of the
followmg optlons when the input 51gna1 is a random process?

I DI HISYQRH (PCM) H SHieRoeH YR J&d: FfeiRad fawed & 9 e wHifad g8iar 8 5a
g YC R Ue Y81 TRy 8IdT1 82

A The frequency of the quantizer

HICTIOR DI STHT
B The bit depth of the input signal

37ge R &) fie e

C The number of quantization levels
e [ClQulRIA Xl CAESEE2

D The frequency of the input signal

$19c Rigd &1

Answer Given By Candidate:D
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Question ID:1040, Code:

Section:Electronics

Question:When a clock's minute hand moves, its shaft twists slightly, generating a torque proportional to the
angle of twist. What physical property determines the torque in the clock's shaft?

o9 TP IS BT {C 1Y Il 5, Al SUHT IMUT UTST ST §, Sl GSH & D101 &b U | el S
m%a@ﬁ%wﬁﬁﬁﬁﬁﬁawmwmﬁwﬁév

A Viscous friction in the mechanism
gifyet # fufear g
B Torsional stiffness of the shaft

U B1 eI HARAT

C Moment of inertia of the shaft
MY BT i

D Angular velocity

Answer Given By Candidate:Not Attempted

Question ID:1041, Code:

Section:Electronics

Question:In a system with a negative feedback loop, how does the overall gain behave when the gain of the
feedback path is positive?

TH THRIAS BIsad U aTd ReH H, S1d Wisdd Uy BT A1y IHRIAS gidl ¢, dl T a1y bl
AER T 87

A The overall gain increases

S A IG5 ©

B The overall gain decreases

% ATH gedl §

C The overall gain remains unchanged

%A ATy aRafdd gdl §

D The amplifier stops working
BT HAT 9 PR &A1 8

Answer Given By Candidate:D
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Question ID:1042, Code:

Section:Electronics

Question:In an electric motor, the input is an electrical signal (voltage), and the output is mechanical motion
(rotation). What does the transfer function T(s) represent in this system?

TS 3afacd Alex H, 3¢ U% Safaedhd fRud (dlecs) &, 3R 3M3eye A Tfd (IeeH) § | 39 Yurel
H iAW e T(s) 1 SRidT 82

A The ratio of electrical input to mechanical output
A S AN
Zdfdehd 3YC 3R AP Hdd TITYCT HI SITd

B The ratio of mechanical output to electrical input

ABAHd 3M3eYe 3R Safdedhd 3YC &1 3UTd

C The sum of electrical input and mechanical output
A S AN
gdfdedhd 3YC 3R AP HdHd 3M3eYc &I AN

D The product of electrical input and mechanical output
Solfagdhd 37YC 3R BdbHed AHITYS BT UHGBA

Answer Given By Candidate:D

Question ID:1043, Code:

Section:Electronics

Question:In a control system, a summing point with two inputs A and B produces an output Y. What is the
output of the summing point if both inputs A and B are positive?

T 0T yorTeht 7, T Tare fg R &l 39Ye A 9 B e §, T 3Seye v 3 FRa1 81 R
G 3¢ A 3R B YHRIAS &, ol GHIA foig BT 33cye ol gIm?

A The difference between A and B
A 3R B & &g & 3R

B The sum of A and B

A 3R B H1 TN

C The product of A and B
A 3R B &1 UHGA

D The ratio of A and B

A 3R B &1 3UTd

Answer Given By Candidate:C
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Question ID:1044, Code:
Section:Electronics
Question:How many forward paths are there in the given Signal Flow Glow?

_,.‘
H1
o - | —
N &
A 61 G2 G3 an\
R(s) vGE G6 G7 G!i ¥(s)
3 - -
& 718 Ryt vl el H foba ikae UTy 89
,.‘
H1
. e —
& \‘L
M 61 62 o3 6a
R{s) *GE G6 G7 G_Sf/ )
2 - .
A 0
0
B
C 2
2
D 3
3

Answer Given By Candidate: A
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Question ID:1045, Code:

Section:Electronics

Question: A proportional control system is used to regulate the temperature of a heater by adjusting the
ON/OFF cycle time. What is the main feature of a proportional controller in temperature regulation?

Teh 1T 01 JuiTell o1 SUTRT g1er & AU &1 ON/OFF HTsfardt <IgH &) JHRITST b
ﬁwﬁawﬁ%%u%mw%mmmﬁwmﬁw&nﬂumﬁwaﬁq@ﬁﬁww%v

A It keeps the heater constantly ON.
g B H TR ON 3T g

B It reduces the power supplied once the temperature reaches the set point.

gg Fuiia g I ugen R Syfd &1 78 fed &1 HH FRaT 6|

C It only works when the temperature is below the set point.

Ig Padl dd 1 Bl & 5d draAH il g @ R gar g

D It increases the power supplied after reaching the fixed point.

g fAfEa foig R ug=a & o1e 3myfdf &1 718 wifed ! serar g

Answer Given By Candidate:Not Attempted

Question ID:1046, Code:

Section:Electronics

Question: While analyzing the stability of a control system using the Routh-Hurwitz criterion, what does a
sign change in the first column of the Routh table indicate?

A3Y-gfdes AFES BT STANT Hb Udh (I YUITet ! RRURAT &1 fa=aiwur dHd THd, M3Y d1fcidT &
Ugd HiaH H Udh Habd IRad- &1 ol SR Bl 87

A Aroot in the Closed Right Half-Plane
S gC-8Ih & H Th 3¢

B A root in the origin

MR H e 3

C Arootin the Left Half-Plane

AT -ETh W+ H T 3¢

D Aroot in the Open Left Half-Plane

3T qUe-8T% i H T 3¢

Answer Given By Candidate:Not Attempted
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Question ID:1047, Code:

Section:Electronics

Question: A Nyquist plot of the system does not encircle the point -1+j0, and there are no poles of the open-
loop transfer function in the right half of the s-plane. What can be concluded about the stability of the system?

ReH &1 Aoie wWie fdg -1+j0 B IR a1 €, 3R G- TRHR HaRH & JZe-8Th s-TH | His uid
T 3 | s &t RRa1 & IR & F1 s Tt o e 82

A The system is stable

e fRR g

B The system is unstable

R sifRR

C The system is first stable and becomes unstable after 1 time constant is reached

e Tga fRR g 3R 1| 970 RRI% ugeH & a1g SifRR 8

D The system is first unstable and becomes stable after 1 time constant is reached

ey uga SRR § 3R 1 T fRRI% UgaH & 918 fRR g1 S

Answer Given By Candidate:Not Attempted

Question ID:1048, Code:
Section:Electronics
Question: What does the Bode plot of a system represent, where H((y) is the system's frequency response?

T YUl 1 SIS Wiie a1 GRATdT 5, STal H( ), YUl &1 Mgy ufafesar g2

A Magnitude and Phase of H( ) versus frequency

H(w) T URHATT 3R e &1 SMgf

B Amplitude of H(y) versus frequency
H(w) T URIIR[S d-H

C Phase of H(w) versus time
H() T Wl d41H JHY

D Frequency response of H(y) versus time

H(w) Pt 3t ufdfhar s gag

Answer Given By Candidate:Not Attempted
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Question ID:1049, Code:

Section:Electronics

Question:If P is the number of open-loop poles and Z is the number of open-loop zeros, what is the number of
root locus branches when P = Z?

g P GHl-qU OId &1 WA § 3R Z Fail-qU LA D1 BT 6, A1 o1 P = Z Bl <l ©¢ Alp Y ArAT3f] &bl
T T 22

A All root locus branches originate from finite open-loop poles and terminate at finite open-loop zeros.

Tt ¢ Ay YTy, Fid Geil-qu O ¥ Sdd gldl & SR IifHd Yeil-au Y IR THI gidl g |

B Some root locus branches originate from infinite open-loop poles and terminate at finite open-loop zeros.

FG ¥ AIHY ARAN S Jil-qu Urd I I 8t § 3R N Fehl-qu YT IR JAT gt g

C All root locus branches originate from infinite open-loop poles and terminate at finite open-loop zeros.

Tt ¢ A AT 3d Gail-qu Uid ¥ 37 gl & SR Ifd Yeil-au I IR THI gidl 8 |

D The root locus branches originate at finite poles and end at infinite zeros.

= A YRaTg W Uit & I gieit 8 SR S Y TR FAT gt &

Answer Given By Candidate:Not Attempted

Question ID:1050, Code:

Section:Electronics

Question:For an LTI system with impulse response h(t), what does the output become when the input is a unit
step function?

TS LTI VO & forg ford St Ufaferar h(t) §IRT <1191 71 8, 516 $99¢ U e WU HaRH gidl 5,
3{T3CYC 1 81 ST 82

A The product of the unit step function and h(t)
g TU HaRM 3R h(t) BT oG

B Convolution of h(t) with the unit step

h(t) DT JfE WU & 1Y DIdegRH=

C The sum of h(t) and the unit step function

h(t) 3R g WU Ba-H &1 IR

D The difference between h(t) and the unit step function

h(t) 3R gfAc WU GaRM & diF BT 3R

Answer Given By Candidate:Not Attempted
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Question ID:1051, Code:

Section:Electronics

Question:A robotic arm uses a PID controller to maintain a precise position despite external disturbances.
How will the motor adjust its input based on the PID control strategy?

TS eI 3, TH PID FE% BT SUTRT HXh d1e YareH & dravig, T Jeidh (Y 918 3@ g |
Hiex, PID fAEF0T YUHIT & STYR WR, 30T I7YC BT B THRAIT BT

A By adjusting output proportionally, integrating current input, and predicting future error

3{T3CYC P IUTd H FHIAINTT B, ITH 3TYC DI Tbidhd B, 3R Hfaw &1 Jfe &1
Yfqerarol e

B By adjusting input proportionally, integrating past errors, and predicting future errors

;%;iaﬁ&qud o TR BRb, fUsd Ffedl Bl Thipd Hrds, 3R Hiaw 31 Ffed! ot yfawrarof

C By switching between ON and OFF states based on position error

fRyfq Ffe & SMUR IR ON 3R OFF RUfA & & Raa Hap

D By adjusting errors proportionally, integrating past input, and predicting future output
D1 SUTd H U B, fUS TYE Bl Ubldhd o, 3R Ufd® & 3H3TYCT Bl
Yiqwgaruft s

Answer Given By Candidate:Not Attempted

Question ID:1052, Code:

Section:Electronics

Question: An electrical circuit consists of two capacitors and one inductor. How many state variables are
required to describe this system?

T faggd ufkuy § <1 HURTed 3R T Saer 811 81 39 Yumelt &1 afdfd e & fore fbem we

IRUSeT B JTTRIH AT 32

A

B

NN

D

~ B W W

Answer Given By Candidate:C


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

2y/7 Google Play

05/06/2025, 12:48 Response Sheet

Question ID:1053, Code:

Section:Electronics

Question: A PI controller is implemented in a system with unity negative feedback. What is the primary role
of the integral action in a PI controller?

wmﬁﬁa;ﬁwwnﬁﬁqﬁﬂﬁﬁﬁaﬁs@a%m&mmw%lwplﬁﬁ%ﬁ&'mﬁa@
YfPrepT T 82

A Tt increases steady-state error

g WK TR B 9¢1dl §

B It decreases steady-state error

g W II-WT TR I HH BT §

C It improves transient response

g ¢iRTe YT~ & YR HRal

D It decreases transient response

g Tifite Y1y &) HH AT §

Answer Given By Candidate:Not Attempted

Question ID:1054, Code:

Section:Electronics

Question:In a lag compensator circuit, the output voltage Vo(s) is determined by the current flowing through
the series connection of a resistor and a capacitor. What is the primary role of the capacitor in a lag
compensator circuit?

w%ﬂoba-%ce gfdhe |, 3MITYT diee™ Vo(s) 3 URT gRT Fuffea forar Siar g o te ufaRius ik Ut
HURTER & YT TS & HIH J T8l ¢ | O HU=Iex Fidbe H spuiyex & T YfHdhT 31 52

A To introduce a phase shift that delays the signal

e & fodifad s & o T e R1ge Uxy AT

B To decrease the system's settling time

Req & Yecarsd 99 &1 g1

C To improve the transient response

ST vfctfobar T YR HRAT

D To introduce a phase shift that advances the signal

R9a &1 3 9 & ot T o RIve U=1 &A1

Answer Given By Candidate:Not Attempted
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Question ID:1055, Code:
Section:Electronics
Question:In Amplitude Shift Keying (ASK), how is logic 1 typically represented in Binary ASK?

Tfies fRIte BIET (ASK) H, ST ASK H Ao 1 Y 3HIR TR $H8 aifar S 82

A By combining multiple frequencies for the carrier wave.

PR 99 & forQ g SMgierdl Pl e |

B By a phase shift of 90° in the carrier wave.

PR 39 H 90° HT ol TR HRP |

C By assigning a specific frequency to the carrier wave.

PHRIIR 99 B T ARy gy Aiuax |

D By associating a certain amplitude to the carrier wave.

PR 99 B U FIEd Teiiegs Qx|

Answer Given By Candidate:Not Attempted

Question ID:1056, Code:

Section:Electronics

Question: A radar system sends out a specific signal to detect objects in the environment. The received signal
is noisy, and the system uses a matched filter to identify objects by maximizing the signal-to-noise ratio.
What is the primary purpose of using a matched filter in radar systems?

TP ISR YUITEH, TTaRul & aegsii o1 IdT T & fore, T fafRry Tavd Wt 8 | U Hobd, TR 4RT 8l

g;ﬁm?ﬂu;n::g?ﬂaﬂﬁﬂ 3UTd B 3ifBaH B, IXGSH DI UgaT H & forT U T g3 fheex &1
|

TSR yunferdl # T g fiheex &1 SUANT 3 1 I S0 31 82

A To increase the transmission range of the radar signal.

YR Ra & ¥R &5 &l §gH o fau|

B To maximize the signal-to-noise ratio for accurate detection in noisy environments.

YR HR IIATaR01 H ldh UgaH & ol Rigd-g-A1sel $Urd &1 3fIHad d3- & fad|

C To convert the radar signal from analog to digital format.

YR Rud ol Tran 9 fefored ureu # ufvafdd o & forg)

D To reduce the energy consumption of the radar system.

ISR YUTelt &1 Froll WU Pl HH B3I P foru|

Answer Given By Candidate:Not Attempted
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Question ID:1057, Code:

Section:Electronics

Question: Which method is most accurate for analyzing error performance for a wireless network in a
multipath fading area that needs error performance analysis?

DI I A, T Aecary BT & # arRey Aead & oy 3 veRi= @1 fazawo & & fog e
Tl B, o e e fandwor &t ez 32

A Theoretical BER analysis

J3fiikfcmd BER TATIRN

B Monte Carlo simulations
Hic Hral RIga=rd
C Empirical BER analysis

TRIRS A BER TATIRN

D Measuring signal strength

Rrae Wy &1 o

Answer Given By Candidate:Not Attempted

Question ID:1058, Code:
Section:Electronics
Question: Which of the following is a step involved in encoding a message using Hamming Code?

fRoffEd & ¥ o9 91U g Sl 8t Bis &1 STANT HPp T T bl Thig HRd JHY M giaT g2

A Recalculate the data bits

Sl focy o) fh @ Fagpae d

B Calculate the number of redundant bits

e facy Bt H&AT I T HRAT

C Check the number of redundant bits

JEEe faey &1 e o Sid HRAl

D Increase the block size of the message

T & SAIP MBR DI TSI

Answer Given By Candidate:A
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Question ID:1059, Code:

Section:Electronics

Question: A Time Division Multiple Access (TDMA) system where users are assigned specific time slots for
transmission. The system operates under centralized control, where the control node synchronizes the time
slots for each user.

Why does TDMA require guard times between user transmissions?

T CIgH fEdiei Hediuel Trid (TDMA) UUITe Sg1 SudliTehdl il &bl URUI o fore fafkiy a#y wiie
3rdfed fpu Sd 81 I8 wommelt iy fAa=ur & dgd Iddt g, STel (a8 Ude SUANTH ! & fold
Y Tile BT GH-Id Hdl gl

TDMA & SUTNTGhdl TR & Sd YRET JHY B ATTRIHdT i gl &2

A To allow users to transmit simultaneously.

STANTHATS DI Th AT ARG B DI 3T G & g |

B To prevent overlap of user transmissions due to phase differences using guard times.

S 9T BT IUANT HIb, ol P 3R P HRUL, IUANTHAI3N b IR & avay &l Ah & T |

C To ensure that users receive a larger bandwidth.

Tg Afd A & fore fos Suamreatst & siftie defagy o 8|

D To minimize the time required for user transmissions.
A C_
SUANTH ! TR & [T SMaRgd 9T Bl GAdH DT

Answer Given By Candidate:Not Attempted

Question ID:1060, Code:

Section:Electronics

Question: Which principle is responsible to ensure that quantum information is secured from unauthorized
replication?

& 1 Rigid g8 YRfd w7 & forg SnieR 8 & sicn Y@ sHfied ufdefa 3 JRidm 82

A No-cloning theorem

A-FAI-HT Y3RA

B Entanglement

THcHTaHe

C Uncertainty principle

D Wave-particle duality

dg-uTicdha sgsifarct

Answer Given By Candidate:Not Attempted
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Question ID:1061, Code:

Section:Electronics

Question: Which feature of the Zener Diode makes it suitable for use in compact circuits and mobile phone
applications?

g;%s%qﬁsﬁwﬁﬂ It fIRIvaT 38 wriiae fthe iR MESd BiF AR H STaRT & fore Iugad

A Wide availability
B Exceptional performance quality
C Efficient voltage regulation

P dlecl HgH

D Precision in operation
TATe H Gl

Answer Given By Candidate:C

Question ID:1062, Code:
Section:Electronics
Question:Under which condition does the bipolar junction transistor(BJT) operate in the saturation region?

SISUIR SIaRM SIRReR (BIT) Y= &4 ¥ fory fRufa & &rf avar g2

A When the collector-base junctions and the emitter-base junction are both reversed-biased.

S BHAGe-o SgRM 3R THeR-o SiaxH giHi ol SRRe gid g |

B When the collector-base junction is reversed-biased and the emitter-base junction is forward-biased.

W HAde-99 SIaxH RNad dIRI%e gidl g 3R THeR-99 SiaRH hRas 9R%S gidl o

C When the collector-base junction is forward-biased and the emitter-base junction is reversed-biased.

W hAde-9 SIaRH BRds S-S gldl g 3R TeR-a9 SiarH Rad arRe glar g |

D When the collector-base junctions and the emitter-base junction are both forward-biased.

e HAde-oF SIgRM 3R THe-oY SaRM, gl hRds J19%S 8ld 8|

Answer Given By Candidate:Not Attempted
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Question ID:1063, Code:
Section:Electronics
Question: Which condition determines the threshold point for a MOS Capacitor?

Teb MOS HUTRA o fo Iies urge ol Mefia 3 arell fufa o1 it &»

A The condition when the surface electron concentration is not equal to the bulk doping concentration.

9% i 59 WY Zaaed I Fodb ST HI-4eH & SRIER Tal sl g

B The condition when the surface electron concentration is less than the bulk doping concentration.
=~ =~ v Ve q A=A Un ¥
I8 IRy 9Id TR gaae i BIIe T dedb ST HIHetH I HH eI ¢

C The condition when the surface electron concentration is equal to the bulk doping concentration.
9% i 59 WY gaae 4 HIUeTH dodb ST HI-UeH & SRR sl g

D The condition when the surface electron concentration is more than the bulk doping concentration.

I8 IRy OId TR Faae i BIIc T dedb SIUT HIuetH F 31w gt 7

Answer Given By Candidate:Not Attempted

Question ID:1064, Code:

Section:Electronics

Question: What fundamental principle is used to derive the equations for each mesh when applying mesh
analysis to determine the currents in a circuit?

Tfhe T YRTST BT MR B o forg A f=ewor A dxd I90 TS BY & [T FHIHR01 T 3
& foTT 1 a1 Hifere Rigid IuanT foar el 82

A Kirchhoff's Voltage Law (KVL)
{3t BT dlees BIH (KVL)

B Kirchhoff's Current Law (KCL)
fhTa{ts &1 e BT (KCL)

C Ohm's Law
3 BT B

D The Superposition Theorem

Answer Given By Candidate:D
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Question ID:1065, Code:

Section:Electronics

Question:In which operating region is the bipolar junction transistor (BJT) function "fully-ON" and works
effectively as a switch?

SIZUTCR SIaRM giforRex (BIT) fora Tmem & & quf-3ifq (fully -ON) BlaT § 3R faa & &u & gurdt &
Y HTH BT 5?2

A Active Region

UESCRISE!

B Cut-off Region
H-3Hh o

C Saturation Region

e oA

D Passive Region

CIGCRISE

Answer Given By Candidate:B

Question ID:1066, Code:
Section:Electronics
Question: Which of the following describes an optical property of a photodiode?

fFufafad 7 @ oF O T widiers ot 3HifPed fARvdr o1 guiE Hd1 82

A The frequency at which its output reduces by 3dB

39 3Mgfy R, oI TR 3T 3M13TYE 3dB ¥ HH Bidl §

B The gradient of its current-voltage curve at zero bias

IR S TR §8cb Bhc-dlecsl hd Bl Afeuc

C A measure of the sensitivity to light

=T & Ufd HdGI=Iedl &l 319

D The response speed of the photodiode to light signals

A & Hebdll &b Ufd Biclf$ars Bt Ufdfshar fd

Answer Given By Candidate:D
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Question ID:1067, Code:

Section:Electronics

Question: Which type of Sample and Hold Circuit is specifically designed for applications like analog-to-
digital converters (ADCs), where precise timing is critical for accurate signal processing?

T UeHR &1 0 3R gics Afdbe [aRY U 37 SIUaNT & o fEoie- forar a1 ], 59 TArai-¢-
f$fored Hacd (ADCs), Tet Tdte Try FuRun, géie Rura TRk & o Agayuf 82

A Differential Amplifier Sample and Hold Clrcult

SRS TRABRR Jud 3R gics Ifdhe

B Holding Amplifier Sample and Hold Circuit
SIS T TR IR Ud iR gies Fidhe
C Voltage-Controlled Sample and Hold Circuit

D Pulse Sample and Hold Circuit

T U 3R BIeE Fihe

Answer Given By Candidate:Not Attempted

Question ID:1068, Code:

Section:Electronics

Question:In which operating region does a bipolar junction transistor (BJT) function effectively as an
amplifier?

TP TIRUICR SR ifoRex (BJT) THTA! U F THCHIAR & &0 H oy Tatferd & & i &l /2

A Active Region

e &

B Cut-off Region
He-3h &d

C Saturation Region
QR &7

D Passive Region

URrg &

Answer Given By Candidate: A
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Question ID:1069, Code:

Section:Electronics

Question: Which type of memory is best suited for digital electronics applications where high storage capacity
is required at a low cost?

DI I HHR] UHR fSiTed Saaei-ad SIuanT & ot Tew IUged § STal 3 Gugul &Hdl dt
STARAH T Bicht & AR AT HH GI?

A Erasable Programmable Read Only Memory

ST U IS SIe HART

B Read Only Memory

NEKIERIREIN]

C Static Random Access Memory
Qfdiep Yo TRy AHR)

D Dynamic Random Access Memory

SIS YSH TRN TR
Answer Given By Candidate:D

Question ID:1070, Code:

Section:Electronics

Question: What term refers to the duration a microprocessor takes to access memory or I/O devices and
complete the associated read or write operation during processing?

DI I Ueg, I Al 1 Yafifd ST § ofd T HISH IR, HHARY T /0 SUHRUN adb Uga- 3R
TRIEHRUT & GRT YafAd UgA a1 feran & TaTe &l U1 6 B addl 82

A Fetch Cycle

b Tigfdbd

B Execute Cycle
TRIRIC Argfdd

C Machine Cycle

R Aefed

D [Instruction Cycle
VG llon

Answer Given By Candidate: A
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Question ID:1071, Code:

Section:Electronics

Question: Which controller is specially developed for interfacing keyboard and display devices for the Intel
80857

q»‘mgn = faRY U A Intel 8085 & folT IS 3R UG SUBRUN & SeXhy & fore fas iy fasan
T 82

A Intel 8279
Intel 8279

B Intel 8748
Intel 8748

C Intel 8049
Intel 8049

D Intel 8648
Intel 8648

Answer Given By Candidate:Not Attempted

Question ID:1072, Code:

Section:Electronics

Question: Which reset mechanism is designed to activate when the supply voltage drops below a predefined
threshold?

DI 1 e 9 39 RUfq & aftha g & fore fewg= fovan e @ o Siyfe diees Ue qai-uiRg e 9
) T S 82

A Voltage Surge reset

dlecsl ol IS

B Brown-out reset

FTST-3T3¢ e
C Watchdog reset
CIEEIIEIRE
D External reset

TRIeAd e

Answer Given By Candidate:Not Attempted
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Question ID:1073, Code:

Section:Electronics

Question:In which mode of operation does the Configurable Logic Block (CLB) produce two independent
functions, each involving four variables?

PHIPTRET Ao sl (CLB) ford HTRRA 7S § g1 Wdd H1d IUd Rl g, 98! Udd H IR

INTTE A 2

A FG Mode

FG A8

B PG mode

PG HIS

C SGmode
SG /IS

D FM mode

FM HIS

Answer Given By Candidate:Not Attempted

Question ID:1074, Code:

Section:Electronics

Question: Which force is experienced by the holes present under the oxide layer, when positive gate voltage is
applied to the semiconductor surface of the MOS capacitor in the MOSFET?

S MOSFET & MOS $URIeR & Yl sdey TRUH IR FHRIHD ¢ dlees A fbar STl 8, ol

3TTES TR & I Hing sl W o I wfea 3/ ya &1 ot 82

A Attractive force

3cfdea xfad

~

B Electromagnetic force

ENCEBPIRCNIES|

C Repulsive force

Rufca wfe

D Magnetic force

Adfes wfkd

Answer Given By Candidate:B
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Question ID:1075, Code:
Section:Electronics
Question:In the node analysis method, what is the recommended characteristic of a reference node?

e fawdw ugfa &, Y39 Ars Bt rqeifd fadivar s g2

A It should be connected to the ground or have zero potential

U D1 T3S I SS1 §HT A1eT T ST UIe Rigel Y i1 alfg T

B It should have the highest potential in the circuit

59§ gfhe & o 3ifie MR g1 91Ul

C It should contain the maximum number of components

39 ¥ SfYHdH gedi & T g1 AMgU|

D It should be located at the circuit's input terminal

39 gfthe & 3Ye <fifa iR fRyd g anfgul

Answer Given By Candidate:Not Attempted

Question ID:1076, Code:
Section:Electronics
Question:The Superposition Theorem is particularly useful in which of the following types of circuits:

JURUIRTRA yig Fafeiad & § forg TeR & dfde # fady &0 3 Iwanf 8

A Circuits with only one independent source
. Ry AN ¢
Rith Te W@da 9id ard Fidhe

B Complex circuits with multiple independent sources

2 WA Fid aTdl sifed gide

C Non-linear AC circuits

TR AC Ifbe

D Digital logic circuits

ISECSISINERSIET

Answer Given By Candidate:B
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Question ID:1077, Code:

Section:Electronics

Question: What does the Poynting vector represent in electromagnetic theory, and how is its direction
determined?

gAgCIdfed WY B UiEfd daex &1 3 B, iR 39an! o= 9 Reffa ot St 82

A The total energy in a wave, with direction perpendicular to the magnetic field

U 39 H Hd S, ol JE1g &7 & Ul dvaad e=m# g

B The energy density of an electric field, directed along the electric field

TS Safded & DI STl uicd, S Safded & P y-gry AERa g

C The power flow per unit area, with direction perpendicular to both electric and magnetic fields

Tfd gfie &= 7 UTeR aTe, S 3aiface iR Bifee, ST & & Ufd aad fe=m # g

D The charge flow rate, directed along the magnetic field

TS TaTe B X, Sl A &= & ay-ary FeRia g

Answer Given By Candidate:Not Attempted

Question ID:1078, Code:

Section:Electronics

Question:How does the current through a capacitor behave in a DC circuit when the circuit reaches a steady
state?

U® DC Ifohe H 9F Afdhe fRR /a1 & Ugadl g al HuiRiex & AT ¥ YRT BT TG8R H4T aIdl 82

A It becomes infinite

Ig 3T BT ST §

B It remains constant

78 RR T ?

C It becomes zero

Ig LA B ol §

D It oscillates continuously
g FRR e B 8

Answer Given By Candidate:D
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Question ID:1079, Code:
Section:Electronics
Question:For the resistive circuit y(t)=bf(t), what condition ensures the system is time-invariant?

y(H)=bf(t) UfeRIet afkay & fog, o1 T 2t ghfera et g fos vomedt Trg-ufkad-a 82

A b must be a function of time

b ] T P T B g1 AT

B b must be constant

b RR g1 1Y

C The output y(t) must equal the input f(t)
3T3TYC y(t) DI TTYC f(t) &b SR&R BT AMBY

D The input signal must be constant

=Te Rivrel 31 FRR &1 a1RT

Answer Given By Candidate:C

Question ID:1080, Code:
Section:Electronics
Question: What is the resonance condition in a series RLC circuit when analyzed in the frequency domain?

3Ry & B fa=afid o I U Jaares RLC URTY H Yoy ot fRufa o gt 82

A The inductive reactance equals the resistance

Sefaea Ruad T ufeRlY & RISR BT 8|

B The capacitive reactance equals the resistance

Fuffed Ruady ufaRly & RIS i1 8|

C The inductive reactance equals the capacitive reactance

S Ruady HuRifed Ruedy & SRR idT 8|

D The total impedance equals zero

$d ST Y & RIS Bl 5|

Answer Given By Candidate:C
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Question ID:1081, Code:

Section:Electronics

Question:For an amplifier characterized by the h-parameter equivalent circuit, the voltage gain is influenced
by:

TP URABRR, ST faRIvar h-IRHiex Tfthdaire Aidhe I ST il &, 39 H dlecsl Ay 59 I FHIfad

gl &:

A hll and h22 only

$dd hil 3R h22

B h21 and h12 only

P$dd h21 3R h12

C h21 and external resistances only

FHId h21 3R I8 ufeRy

D All four h-parameters
Tt IR h-IRfeR

Answer Given By Candidate:Not Attempted

Question ID:1082, Code:

Section:Electronics

Question: What happens to the Fourier series representation if the period T of the function approaches
infinity?

IS HaRH Bt 3 T, 3Fd &b HIe Ugddl & ol BIRAR SR UR[ o1 T 81T &7

A Fourier series remains unchanged

BRIR §TaT sufafdd Xedi 8

B Fourier series becomes a Fourier transform
BHRAR SRIA BRI TG & gad ol &
C Fourier series converts to a Laplace transform
% R el e R H uRafd gt @
D Fourier series diverges to infinity

BIRER SRIAT 3d BT 3R Tl §

Answer Given By Candidate:C
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Question ID:1083, Code:
Section:Electronics
Question:What is the relationship between the impulse response h[n] of a system and its frequency response

He"j w)?
Tk UOTTT T 3Ued REgied h[n]
3R 38 hraadr Eaed Hietjw)
h 9T T FIT 87
A The frequency response is the DTFT of the impulse response
Hreddr REuiey so0eq REew
HTDTFT 2

B The impulse response is the inverse DTFT of the frequency response
gFUeH REufed Hrerddr REuied
& Se7ad DTFT &

C The impulse response is equal to the frequency response at =0
ey REuier w=0 W WHieFdHT
fregfea & TR &

D The impulse response is the Fourier series of the frequency response
gFucH Euey Hrerddr REueq
& BT Al E

Answer Given By Candidate:B

Question ID:1084, Code:

Section:Electronics

Question: Which of the following represents the region of convergence (ROC) of a causal sequence in the Z-
domain?

fafad & @ o 91, -S04 B Fargera Herd &1, T o 3ith Haui= (ROC) g2 82

A Inside the unit circle

gHe bl & 3

B Entire Z-plane

PUPANE]

C Outside the outermost pole

3HTIeIHRE UId & 98R

D Between two poles

AT & S
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Question ID:1085, Code:
Section:Electronics
Question: What happens to the output of an LTI system when the input is delayed by t0?

STd 39YC BT 0 GRT fadifad fan Sdm €, af LTI UOTeR T 3T3eye 31 gidT &7

A The output is scaled by t0
3{TICYC t0 §RT Wb fhaT STl §

B The output remains unchanged

3{T3eYe 3uRafdd Igal &

C The output is delayed by t0
3MITYL 10 R fIcifad g1 wman &

D The output becomes zero

3T3eYe X 1 ST §

Answer Given By Candidate:Not Attempted

Question ID:1086, Code:
Section:Electronics
Question:In a multistage amplifier, why is the coupling of stages typically done using capacitors?

T A RS URIBTRR H, 310 IR TR, HUIT 31 Lol P UichdT i BRI bl SUTNT B P
BT BT R g2

A To block DC components between stages

IS & §F DC UCH| DI b B b fe

B To match the impedance of the two stages

<1 S 1 SIS Bl HY B o AT

C To increase the voltage gain of the amplifier

UHIBRR & dices 14 &l §gH o fog

D To minimize power dissipation in the circuit

gfche 7 UTeR gafdl BT HH B & g

Answer Given By Candidate:Not Attempted
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Question ID:1087, Code:
Section:Electronics
Question: Which of the following conditions ensures no signal distortion in an LTI system?

frafefead & @ ®F-3 T, T LTI el § H18 R faqur 9 89 &t qetad, gRfd Rt 82

A Linear phase response and constant group delay

35T tot wfaferar iR FRR I fads

B Non-linear phase response and variable group delay

R B ufdfear 3k uRad-1g 4qg fads

C Linear phase response and variable group delay

35T tot wfaforar iR uRkad-ta Ig fads

D Non-linear magnitude response

TR e ufafsar

Answer Given By Candidate:Not Attempted

Question ID:1088, Code:

Section:Electronics

Question: Which window function reduces the ripple amplitude in the frequency response but results in a
slightly worse cut-off slope?

ﬁ?gﬁﬁrw 3gf ufaforar & Ruyd THeliegs &1 &1 HRd1 § Al de-3Hh T & Aet WRre!
Adidl e?

A Rectangular window
DR fde

B Kaiser window
CAESHNEE]

C Hamming window
S e

D Bartlett window

EINEIEE]

Answer Given By Candidate:Not Attempted
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Question ID:1089, Code:

Section:Electronics

Question:In a parallel structure of two LTI systems with transfer functions H1(s) and H2(s), the total system
transfer function is given by:

&l LTI JUMTerdl ! THMIR SR |, e SRR HaRM Hi(s) 3R H2(s) §, $ JUM! T SRIHR
R 39 UHR fGa1 T &:

A H(s)=HI1(s)*+H2(s)
H(s)=H1(s)+H2(s)

B H(s)=H1(s).H2(s)
H(s)=H1(s).H2(s)

C H(s)=HI1(s)-H2(s)
H(s)=H1(s)-H2(s)

D H(s)=H2(s)/H1(s)
H(s)=H2(s)/H1(s)

Answer Given By Candidate:Not Attempted

Question ID:1090, Code:

Section:Electronics

Question: Which law describes the relationship between a time-varying electric field and the magnetic field in
free space?

oI 91 oy, T -dfad faggd &7 SfiR gad R H Jaoid &3 & did Y& &1 90 Hdl 87

A Faraday's Law of Induction

RIS BT S5aRH HaH

B Gauss's Law for Electric Fields
galfdes hiegy o fore 119 o1 Ay

C Ampere's Law

TR &1 49|

D Gauss's Law for Magnetism

mifew & forw g &1 fRom

Answer Given By Candidate:C
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Question ID:1091, Code:
Section:Electronics
Question:What is the key function of radar systems in terms of object detection?

I UgIH &b T # TSR yunferdt &1 qen s o 22

A Radar uses sound waves to detect objects in the atmosphere.

ISR, @ T BT ST HRep agHSH | aeg 3 &1 udl Fmar g |

B Radar transmits electromagnetic waves and analyzes the reflected signals to detect objects.
A o Qa o\ oC NN o .
YR, faggd TSI a1 YR BT § 3R WRTafdd Tabd! BT [a=eyu] Rl § dlids axgaii BT
T ST b |

C Radar uses optical sensors to locate objects in space.

ISR, 3falel § awqail &1 udt T & g SfifP e TXR BT ITANT &l 3|

D Radar detects temperature variations to identify objects.

SR aX31 & UgdH & g o= & fyadiaf &1 uar amar g |
Answer Given By Candidate:B

Question ID:1092, Code:
Section:Electronics
Question: What does impedance matching ensure when a wave travels from one medium to another?

Od U o, U H1H 3§ g% J1Ed H iTdll 8, of sUiad e a1 gHidd i 82

A Maximum reflection at the boundary between two media

< areHl & o W R S aH WRIdd

B Complete absorption of the wave energy at the boundary

AT TR R Goll BT YT STRITE0T

C Maximum transmission of energy across the boundary with minimal reflection

TATH TRIGC & 91 HHT TR Sl BT YHTH el

D The wave changes frequency to match the new medium

T 37O SATGRT BT T HTHH & T Gl §

Answer Given By Candidate:Not Attempted
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Question ID:1093, Code:

Section:Electronics

Question:In a simple, charge-free medium, what is the relationship between the electric field E, magnetic
field H, and wave vector k of a time-harmonic plane wave?

TS AIYRYT, TATol-3fed AW H, T <TSH-gHI-d Wi- ad & saiaed & E, A & H, 3R a7 daex
k & o9 o1 ey g2

A E, H and k are parallel to each other.
E, H 3R k Th-gWR & AR g |

B E is perpendicular to k, but H is parallel to k.
E k & @9ad g, A H k & SR g

C E and H are both perpendicular to k
E 3R H &IFl k & d9ad gl

D E is parallel to k, and H is perpendicular to k.
E k & JHFIMR &, 3R H k & d9ad 5|

Answer Given By Candidate:Not Attempted

Question ID:1094, Code:
Section:Electronics
Question: Which property of transmission lines helps in minimizing signal loss during power transfer?

TaR TR & SR RIUd 81H B HH B H IR ag-l &1 dIF U1 [aRdl qag HRd! 82

A High resistance of conductors
. [of
Heded BT I TRy

B Proper impedance matching
gl SUSH Af
C Optimized conductor material selection

3P ierd Hdrgs AUl T

D Use of low-loss dielectric materials

Y g ardl SR afded Il w1 uanT

Answer Given By Candidate:A
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Question ID:1095, Code:
Section:Electronics
Question:How does the Smith chart simplify impedance matching in transmission lines?

&7 aré TrafiRe argal # 3ST Bf & $Y IR ST |2

A By visually representing complex impedance relationships.
Sifed SWey Yt ! 289 U T Uvdd b |

B By graphlcally representmg reﬂectlon coefﬁc1ents and normalized 1mpedances
Ul 3R ARG ey & Mhdd 0 4 UK TRb |

C By calculating voltage and current in real time.

JRafds T | diee 3R B b TUFT HIP |

D By eliminating the need for reactive components.
Y o
geh] Dl HAGhd] ?ﬁ HHILT hich |

Answer Given By Candidate:Not Attempted

Question ID:1096, Code:
Section:Electronics
Question: Which mode is supported in coaxial cables but not in rectangular waveguides?

DIIRTTT B | S T HIS AT § Afh TSR damesy | 78l 82

A Transverse Electric (TE)
. (o NS
cIdy gefldcdh (TE)

B Transverse Magnetic (TM)

ey AAfed (T™)

C Transverse Electromagnetic (TEM)

ooy 3AdeHAfCD (TEM)

A A

D Hybrid Mode

GHECKIS

Answer Given By Candidate:Not Attempted
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Question ID:1097, Code:

Section:Electronics

Question: Which antenna type is primarily used for high-gain applications such as satellite communications
and radar systems, offering a narrow beam width?

DI I T UHR 7 T F -4 SIIHaNT oY o ITIE TaR 3R Y8R Ried & fore IuainT fasan
W%Gﬁwﬂaﬁ#dﬁ%ﬁaémmév

A Dipole Antenna

B Parabolic Antenna
Rmeife® T

C Monopole Antenna
HHYIS T

D Loop Antenna
qU

Answer Given By Candidate:Not Attempted

Question ID:1098, Code:
Section:Electronics
Question: What is the effect of using an antenna array with multiple elements on the overall beamwidth?

Hs dcdl o T USHT 3 BT ITANT B DI THE H SiF dISTs IR 1 82

A Using multiple elements narrows the beamwidth and increases directivity.

Hs dcdl BT IUTNT B F §1H ASTE D101 glail g 3R 93 R g 2

B Using multiple elements widens the beamwidth and reduces directivity.

H3 ddl BT STAN 3 J §1 7 ST, A1e! gidt § 3R FRrar & gt 21

C Using multiple elements has no effect on beamwidth or directivity.

Bs dcdl PT IUTNT B BT §iH TrSTs 1 43 RIAT R HIs UHTd T81 usdil

D Using multiple elements reduces the bandwidth but has no impact on beamwidth.

H3 ] BT ST HA I dSfAGY HH Il § Afh S TSTS UR SUHT Bls YHT ol ISl

Answer Given By Candidate:Not Attempted
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Question ID:1099, Code:
Section:Electronics
Question: Which radar system is primarily used for detecting moving objects by measuring frequency shifts?

®IF 91 ISR Riked, 3Mafy & RIve &1 AR, G siiesiacy &1 udl - & e T =0 3 Suai
ERIEICIE

A Pulse Radar
TR ISR

B Doppler Radar
SRR TSR

C Continuous Wave Radar
B IgH 99 TER

D Frequency Modulated Radar
HISYcICS XSR

Answer Given By Candidate:D

Question ID:1100, Code:
Section:Electronics
Question: What mechanism ensures that the light signal remains confined to the core of an optical fiber?

DI T T AT BT ¢ fob A1ge R, PHd BreeR & &R J g1 Iiiid g2

A Reflection of light within the cladding.

FAfST & R UBT BT Wi |

B Refraction of light at the outer surface.
o (o
dlgR] ddg U YPIRT bl YUdd-|

C Total Internal Reflection within the core.

®HR & R gul 3fiaRke wad- |

D Absorption of light by the core material.

PR AU GRT UHIR BT A=Y |

Answer Given By Candidate:Not Attempted
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